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BapianT 1.
-3X+ X,<3,
X1 +3X, <24,
7 X1 +2X,<35,
X1 20, X, 20,

X1, Xo € N,

— X1 +5X, =& max.
Bapianr 2.
—X1+2X%X,< 8,
SX;+7 X, <23,
5x,—7X%,<10,
X; 20, X, 20,

X1, Xo € N,

4X, +2X, = max.

Bapianr 3.
—3X1+2 X, <6,
5X;+ 9 X, <64,
71X -11x,< 7,
X; 20, X, 20,

X1, X9 €N,
5Xq + 3X, = max.

BapianT 4.
-3X,+2%X,<6 ,

X1 +3X, <20,
9Xx; =7 X, <27,
X; 20, X, >0,

X1, X, €N,

5X; + Xy = max.



BapianT 5.
—2X1+ X,<3,
5X1 +7 X, <40,
OX =TX, <5,
X; 20, X, 20,

X1, X, €N,

2X1 + X, = max.
BapianT 6.

X1+ X, <4,

3X;+11x, <58,

7 X =11x,< 7,

Xy 20, X, 20,

X1, X0 €N,

4X; +2X, = max.
Bapianr 7.
(-10x, +3x, <15,

8 X +7X,<82,
3X— X<9,
X; 20, X, >0,

X1, X5 € N,
X; +4X, =& max.
Bapianr 8.
(-3 X+ X,<2,
— 5 Xy +11x, <50,
15x, —11x, <15,
X; 20, X, >0,

X1, X5 € N,
2X1 + 33Xy — Max.



BapianTt 9.
-3X;+ X, <1,
7 Xy +15x%, <93,
X{— 2 X, <5,
X; 20, X, =20,

X1, Xo € N,

X1 +5X, = max.
BapianT 10.
— 5 X, +3X,<15,
13x; +3x, <42,
X1 —2%X, <1,
X1 20, X, 20,

X1, Xo €N,

X1 +2X, = max.
Bapianr 11.
—2X1+ X,£2,
3X;+5X, <23,
5X; —3X%,<10,
X; 20, X, 20,
X1, X5 € N,
2X1 + Xy —> max.
Bapianr 12.
—-3X+ X, <1,
SX+7 X, <46,
3X;—2%X,< 9,
X; 20, X, 20,
X1, X5 € N,
X1 +3X, = max.
Bapianr 13.
-5X;+3%,< 9,
7 Xy +3X, <27,
Xp— X,<1,
X1 20, X, 20,
X1, X, €N,
X1 +2X, > max.



Bapianr 14.
—-5X%; +3X, <18,
3%, +5X, <47,
4x,— X,<32,
X; 20, X, >0,

X1, X, €N,

X1 +3Xy = max.
BapianT 15.

X1+ X,<5,
7 X1 +11x, <91,
7 Xy — 3 X,<42,
| % 20, X, 20,

X1, X9 €N,

5X1 + 3X, —> max.

BapianT 16.
-3X1+ X,<3,
X1 +3X,<24,
7 Xy +2X,<35,
X; =20, X, 20,

X1, X2 €N,
— X1 + 95X, = max.
Bapianr 17.
-X+2X,< 8,
SXy+7X,<23,
5X;—7X%X,<10,
X; 20, X, 20,

X1, Xo €N,
4X, +2X, = max.



BapianT 18.
-3X1+2X,£6,
5X;+ 9 X,<64,
71X —11x, <7,
X; 20, X, >0,

X1, Xo € N,

5X; +3X, = max.

BapianT 19.
—-3X+2X,<6 ,

X1 +3X, <20,
9, =7 X, <27,
X; 20, X, >0,

X1, X2 € N,

5X; + X, = max.

BapianT 20.
(-2x+ X,< 3,
S Xy +7 X, <40,
9X—7TX,< 5,
X; 20, X, 20,

X1, X5 € N,
2Xq + X, —> max.
BapianT 21.
X1+ X, <4,
3%, +11x, <58,
7 X —=11X,< 7,
X; 20, X, 20,

X1, Xo €N,
4X, +2X, = max.



BapianT 22.
-10x; +3Xx, <15,
8 X, +7X,<82,
3X— X<9,
X1 20, X, 20,

X1, Xo €N,

X1 +4X, &> max.
BapianT 23.
-3 X+ X, <2,
-5 X; +11x, <50,
15x, -11x, <15,
X1 20, X, 20,

X1, Xo €N,

2%, +3X; = max.

BapianT 24.
-3X+ X,<1,
7 X, +15X, <93,
X1— 2 X,<5,
X; 20, X, 20,

X1, X9 €N,

X; + 95X, = max.
BapianT 25.
(— 5 x; +3x%,<15,

13x;+3 X%, <42,
X1 —2X,< 1,
X; 20, X, >0,

X1, X5 € N,

X1 +2X, = max.



BapianT 26.
—2X1+ X, <2,
3X;+5X%,<23,
95X, —3X%, <10,
X; 20, X, >0,
X1, X, €N,
2X1 + X, = max.
BapianT 27.
-3X;+ X,<1,
5X;+7 X, <46,
3X—2%,< 9,
X; 20, X, 20,
X1, X, €N,
X1 +3Xy = max.
Bapianrt 28.
—95X;+3%X,< 9,
X1 +3X,<27,
Xj— X,<1,
X; 20, X, 20,
X1, X5 € N,
X1 +2X, = max.

BapianT 29.
—5X; +3X, <18,

3X;+5X, <47,
4X,— Xp<32,
X; 20, X, 20,
X1, X5 € N,
X1 +3X, = max.



BapianT 30.

X1+ X,<5,
7 X1 +11%, <91,
7 X — 3 X,<42,

X; 20, X, 20,

X1, Xo € N,

5X1 +3X, = max.



